[ |
>
lob
HI
034
il
2
e
i
oH
0

x
1=
=2
e
rol
k1

Al [BA] H122MA] (HE 2023.1.1)

of o] M HA

2|7|2t HOHY

s 2 FERREE

Al240| ( |a-|_3—| I_—Q—)

—_—O -
= A
T (M3HE )
o o zos2Hs Azolto]

o —_
Cha| (QZQUSEHS 5) ZHA|

Aol

ESIPN
(M3pH5 )
HELHE [ ] M3 [ ] BAHA/ZA/HAAN [ 18 [ ] e
20| 9SS oF 1 £ 2 o
HEEAS we Ao “ 2 o
— =
EXE 82 HEY
2o W8 E=
SR & Aret
OlolAlH 22| U AFR

AIR|EAE0Q| 0|18 A5 U SEHA U20| S EE A172,"FU7 |2 ME B H38Z, SR RIESAI|E H28%,75=4|
AIAE AH162,"7|2ESE H222,"HOHA=AIH, |84z, "HOHUES 2| 20f| 23 HE AI362, 2| =S50, AM302A12, 204
AUHZH A18Z, "HOHOLSEAIR| R 38R, OrSE'H AI19Z, "AS|AH| A 0|8 L O|&# 22 |0] 2A5HHE, H[122A41%

L MR 2q2|0fl 2ot -E A 1820 2t It 20| 0|2 M-S SHL|Ch

1.0|eldo| S 2Rist + A= MR 15
o

B e
T3 QI U THII0] QIRABIS TOIE 4 Ol AR (7|21, HONINE, HOI4T, OFS 4T B gle

O[elI™S T ot= BTt SHFEHLICH

QtLHALSE

1. 7|2MEEZUAMAS SRIN LUFO| AR AR - 7 - FHE(UIF0Q| AR Al Zu-87Z)0| 0|9 AS 45t Z 2E] 102 O|LHof| 0o o]
'él!.g_flgl?i}\‘lgf‘_'.::)ﬁh};llﬁ% ;_Sf'-lsf:' Al - ERAHEEARAZ - EHARERA L A| - Z K20  2{20]| LSt 0[Q| -2 EHARIAIR - SEAR|ZAIAL
YAl - EusZ SEeiCh
CIE 7|2 HS ZZ0]| Lhigt 0o 42 245t 2 HE] 302 O|LH (T, SESHALRZH 4= Z<0il=6020|U), @ 2l250 =2 HAe| A1,
0|z50] & S0{H|Z0]| izt 0|2 M2 60 O|LH (302 2| LH H&715), @ SHARIIEA | & ZOHR =] 2T 02| 1d0| Z20)= 30X O|LH,
@HOHRIHZ 2 SOI| CHSHO|2 M2 152 O|LH (T, AR AFRE Q1510 0|oM S &t = gI2S STHI0lli= T AMR7F ATSHIRE]
602 O|L)), ® OISR 22 Z45H L2 HE 602 O|LH (30 HR U HATES), ® Z0H0LS71EA| 2, AoHo £ 52|12 23 Soi| Chigt 0|2 32
15 O|LH (EH E'LSH AR 7 U= BR00k= 6020 L), @ UEA0IQ| F7 S| 2, Wil 2tSA| 2 2 S0l Thigh 0|2 MYR2 Ao L2 HE| 60Y
g(ljlili %ﬁoﬁﬁt‘%ﬁ ?ﬁ?ﬁ%ﬁﬁg% I(:DIII-"H| _G?g %’F—f&fﬂ% :%7?" 1%2)"' '(i)l'llé._:I 84'%2%1%1 7e1l—_’r‘;5._: 'é;i—'f’—lﬂ 30 (T, ESORIAR7IUE 0=

0|4 LH, @ Al2|AMH|AOEH e 2 0|24 1Y 2 ot = 2E] 152 O|U ZHSA| ME[SHLCt.

2. 7|ZMESZUINRASERIMUTO AR A - EAMEA| - 7 - FHAOZRE|O|QMNPMELUUS T (EHRARAZ - EBMRZAAZA| - £
1| A20]i=21% 0| IS HIQFS IS USHTT) 302 OLHOI| 22 [RILICE CITL IS SA|A |2 2R 0|2 M- AR Al - EANEA| - & - FHAC2HE]
O|oIHS SF L2 2 2E] 152 O|LHO|| 22 [BHC.

3. CIEHE0| 30| 9= 32 "MRIEF02| 0|18 - HIS & 5 #AL 220l 23t -E M| 1720] 25 M= S U2 S22 90 O|LHo| A2 S

ZYSHEYT[H Z0A 0|t Y S & 4 UACH, 0|2 41YS T2 BT (22| 22 Mgt SRE| 1020[LHOfl X2 (LTt

210mmx297mm [#4A2] (80g/m?) = S22 (80g/ )



